

Giving Hands Solutions Pvt. Ltd.

www.givinghands.world

about us....

Giving Hands Solutions Pvt. Ltd. provides on online platform for those who need help and those who are willing to help.

Our goal is to create a community that helps each other...

Create an opportunity for everyone to achieve financial Freedom...





GOVERNMENT OF INDIA MINISTRY OF CORPORATE AFFAIRS Central Registration Centre

Certificate of Incorporation

[Pursuant to sub-section (2) of section 7 and sub-section (1) of section 8 of the Companies Act, 2013 (18 of 2013) and rule 18 of the Companies (Incorporation) Rules, 2014]

I hereby certify that GIVING HANDS SOLUTIONS PRIVATE LIMITED is incorporated on this Eighth day of March. Two thousand twenty-two under the Companies Act, 2013 (18 of 2013) and that the company is limited by these

The Corporate Identity Number of the company is LI72900KL2022PTC074374.

The Permanent Account Number (PAN) of the company is AAJCG6237B

The Tax Deduction and Collection Account Number (TAN) of the company is CHNG08283C

Given under my hand at Manesar this Eighth day of March Two thousand twenty-two.

CONTRACTOR OF THE PROPERTY.

Digital Signature Certificate Ms. Susmithaa Selvaraj

Central Registration Centre

For and on behalf of the Jurisdictional Registrar of Companies Registrar of Companies

Disclaimer: This certificate only evidences incorporation of the company on the basis of documents and declarations of of the applicancy). This certificate is neither a license not permission to conduct business or solicit deposits or for of the applicancy). This certificate is neither a license not permission of sector regulator is necessary wherever required. Registration status and other details of the company can be verified on now, may good. In

Mailing Address as per record available in Registrar of Companies office:

GIVING HANDS SOLUTIONS PRIVATE LIMITED DOOR NO 4/461 2ND FLOOR VALAMKOTTIL

TOWERS, JUDGEMUKKU, THRIKKAKARA, KAKKANAD,

ERNAKULAM, Ernakulam, Kerala, India, 682021

* as issued by the Income Tax Department





- Permanent Account Number (PAN) facilitats Income Tax Department linking of various documents, including payment of naves, assessment, not domated has marrar, matching of information and case partitionance & experience of electronic information set, reduiting to staryout, until that inform ("bi) was unequited in information and infor
- Quoting of PAN is now mandatory for several transactions specified under Income Tax Act, 1961 (Refer Rule 114B of Income Tax Rules, 1962) arous afficient, 1961 is not field; and inter in fire and inter into (i) an age and select (cores from, 1962 is from 114B, an intel it)
- Possessing or using more than one PAN is against the law & may attract penalty of upoo Rs. 10,000. एक से अधिक स्थानी लोबा संख्या (देश) का राज्या च प्रच्योग करना, चन्द्र के किन्दु है और इसके लिए 10,000 रुपो एक का इंद लगामा जा सकता है।
- The PAN Cost exclused contains Enhanced (DE Code which is resubble by a specific Android Mobile App. Keyword to search this specific Mobile App. on Cogic Part of the Code which is read to the Code of the Cod

----- Out





Electronically issued and Digitally signed ePAN is a valid mode of issue of Permanent Account Number (PAN) post amendments in clause (c) in the Explanation occurring after sub-section (8) of Section 139A of Income Tax Act, 1981 and sub-set (c) of Rule 114 of the Income Tax Rules, 1982. For more details, click here



- ★ India's first reliable Autopool helping platform
- ★ 100% peer to peer donation based helping platform
- ★ After registration immediatly you will enter in Autopool
- **★** Autopool income ₹ 4,94,12,500 (4.94 Cr.)
- ★ Sponsor income ₹ 6,45,200 (More reffereal, more income)
- ★ Direct refferal not compuslary for receiving help

HELP CHART

		Level	Members	Help	Total help	Upgrade	Sponser Help	Eligible Help
1	1	Star	3	300	900	600	####	300
ı	2	Silver	9	600	5400	2000	1200	2200
ı	3	Gold	27	2000	54000	20000	4000	30000
ı	4	Platinum	81	20000	1620000	200000	40000	1380000
ı	5	Diamond	243	200000	48600000	*****	600000	48,000,000
ı						Total	645200	49,412,500

Terms & Conditions

- Register with voluntary interest after reading and agreeing the terms and conditions carefully
- Individuals with age 18 or above are only eligible and competent to enter online helping platform
- > Only one ID can be register using one mobile number
- Direct refferal not compulsory for receiving help
- Unlimited direct refferal allowed
- 24 hours is the maximum time allowed for upgrade.
 If not upgraded within time particular ID will be blocked



